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(a) 96
(b) 120
(c) 192
(d) 312

.WEd wE 1011 & g fg-smawt
e 1§ ?

(@) 1011

(b) 111011
(c) 11111001
(d) 111110011

. WA 1T 4 T 3%3 FifE &1 AR ©
3R [4]=4 B | AR |2 adj(34)| =298
B A (a+P) AR T & ?

(a) 12
(b) 13
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1. If w is a non-real cube root of 1, then

what is the value of 1—(02 ?
O+
@ 3
(b) V2
() 1
4
(d) B

. What is the number of 6-digit numbers
that can be formed only by using
0, 1, 2, 3, 4 and 5 (each once); and
divisible by 6 ?

(a) 96

(b) 120

(c) 192

) 312

. What is the binary number equivalent
to decimal number 1011 ?

(@) 1011
(b) 111011
(c) 11111001

(d) 111110011

. Let A be a matrix of order 3x3 and
|[A|=4. If |2adj(34)|=2%38, then
what is the value of (a+f) ?

(@) 12

) 13

(c) 17

d) 24

. If a and B are the distinct roots of

equation x2 — x +1 = 0, then what is the

alOO + 3100

value of |———=| ?
o' _ ﬁlOO

(a) \3
(b) 2
(c) 1

1
(d) 7

. Let A and B be symmetric matrices

of same order, then which one of
the following is correct regarding
(AB-BA)?

1. Its diagonal entries are equal.but
nonzero

2. The sum of its non-diagonal
entries is zero

Select the correct answer using the
code given below :

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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7. T ®fE 1 TAF i AR 4, B, C
F Hedl ¥ frafafee wudt w— fmre

Hrfg

1. AB=AC= B=C,af AN

?
2. 9fg n Iferdl 9 W AR X &
g BX=Ccx % @B=C
Ideh FaAl # FH-A1 /A @ 2/
(a) a1
(b) Faw 2
(©) 13K 23t
(d) A1, TR 2

8. s wemwl @ x+ 2y +z2=4,
2c+4y+2z=8 IR 3x#6y+3z=10
*T/F

(a) afecha &a 2
(b) FARFQ T @

(c) &5 & el ®
(d) T 9 & €

LAF Y AX = B, 3 I & @Y
3 e aeitewon @1 T e © | AW
i X, sk X, 560% @ B v € )
R X, +bX, 1 GASH, AX=BH T
T €, el a 3R b AEdTaH TAT ,
@ Freafafea # ¥ -1 e w6
g7 -

(a) a=b

() a+b=1
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10.

11.

12.

() a+b=0
d) a-b=1

0 - x—-a x-b
0 0 xX—-c
x+b x+c 1

¥ vt T A R 7
(@ at+b+c
() a-b+c

) atb-c

YT =0

d a-b-c

afe 223, W&t i=~/-1 B, G
Ctax+b=0F TH A § QA (a+b)
6 AF FTE ?

(a) -11
(b) 3
() 0
@ 3

R ERE RN

z o RV TR ?

@ 5

®

(0 3

@ —



7. Consider the following statements in

respect of square matrices 4, B, C each
of same order n :

1. AB=AC = B=C if 4 is non-
singular

2. If- BX=CX for every column
matrix X having n rows then
B=C

Which of the statements given above
is/are correct ? .

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor2

. The system of linear equations
x+2y+z=4, 2x+4y+2z=8 and
3x+6y+3z=10 has

(a) a unique solution
(b) infinite many solutions
(c) no solution

(d) exactly three solutions

. Let AX=DB be a system of 3 linear

equations with 3-unknowns. Let X;

and X, be its two distinct solutions. If

the combination aX;+bX, is a

solution of AX = B; where a, b are real

numbers, then which one of the .
following is correct ?

@@ a=0b
() atb=1

10.

11.

12.

© a+b=0
W a-b=1

What is the sum of the roots of the
0 x-a x-b
equation | 0 0 x-c|=07?
x+b x+c 1
@ a+b+c
) a-b+c
(c) atbdb-c

{(d a-b-c

If 2-i/3 where i =~/-1 is a root of
the equation x2 + ax + b = 0, then what
is the value of (a+b) ?

(a) 11
(®) -3
© 0
@ 3

If 7= 1+i3
1-iV3
what is the argument of z ?

where i=+-1 , then

V1
(@) 3
®) <
© -

@ —

A — ASGT-B-GNL



13.

14.

15.

16.

gfe ab,c APHEQA

x+1 x+2 x+3
x+2 x+3 x+4
xt+a x+b x+3

(@ -1
(b 0
(© 1
@ 2

afg log,a, a* 3R logyx, GP ® % a
x forer R ® 2

(@) log,(logya)
(b) logy(log,b)

(C) loga (lzogb a)

(d) logy(log, b)
2
afs 2%, 2"%, 27 GP# €« Tafefaa
A kD
(@) a,b, c,AP'Ef%
(b) a,b,c, GPH &
(c) a,b,c, HPH €
(d) ab, bc, ca, AP ¥ g

T&H AP &1 Uge 3R T UG AN

3R B R A pA UG FewA
SRUTTCHS 9§, Al n & | FT § ?

(@5
) 6
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foreeh TR © 7

17.

18.

19.

() 7 :
(@) n Treffa «df fem s wwa

k& T quifes T (integral values)
& fou gl x2-4x+ k=0, &
k U @A ®, % awdfad g9 § 3R
QAT T SR (0, 5)FE ?

(@ 3

(b) 4

(© 5

d 6

TF AP #, qsmqax%/aﬁtqzé
n 9G] W ANEA Y € | A m GGl
- ARTES FT-§ ?

@ mx(m'=#n)
n—1

(b) mx(m+n)

l-n

© nx(m+n)
m-—1

%) nx(m+n)
1-m
freafafaa st | feR $ifsg -
1. (25)! +1,26 & AT
2.(6)!+1,7 AW A B
I FEAl § B-a1 /A wE /R ?
(a) & 1
(b) Fad 2
(c) 13R 23t
(d) ITL,AE2



13.

14.

15.

16.

If a, b, c are in AP, then what is

x+1 x+2 x+3
x+2 x+3 x+4| equal to?
x+a x+b x+3 '

@ -1
(d) 0
© 1
@ 2

If log,a, a* and log,x are in GP, then
what is x equal to ? :

(@) log,(logya)
(b) logy(log,b)

(C) loga (lzogb a)

(d) logy, (Izoga b)

1 5 1
If 2¢, 2%, 22 are in GP, then which
one of the following is eorrect ?

(@) a, b, c are in AP
(b) a, b, c are in GP
(¢) a, b, c are in HP
(d) ab, bc, ca are in AP

The first and the second terms of an
AP are 3 and # respectively. If n'

term is the largest negative term, what
is the value of n ?

(@ 5
(b) 6

17.

184

19.

(c) 7

(d) n cannot be determined

For how many integral values of k, the
equation x% — 4x + k=0, where k is an

integer has real roots and both of them
lie in the interval (0, 5) ?

(a) 3
(b) 4
() 5
@ 6
In an AP, the first term is x and tﬁe

sum of the first » terms is zero. What
is'the sum of next m terms ?

() mx(m +71)
n=1

e FELE
1-n
© nx(m+n)

m—1

d nx(m+n)
1-m
Consider the following statements :
1. (25)! + 1 is divisible by 26
2. (6)! + 1 is divisible by 7

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — ASGT-B-GNL
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21.

228

g AR €, @ |z| formes sRreR
g7

(a)

(b)

©
(d) 2

frat  awafrs W wER
|x—4|+]x—=7| =15 GTE FA-& ?
(a) el T

(b) e Q

(c) e i

(d) IR

TF ©@ f: A — B T UHR URATNT

i ﬁFf(x)=2x+3, xed g 3l
3x+5

f ATBTEE B, A 4 IR B fhgs S0k

27

(@) . A= R\{—%}. AR B = R\{~%}
(b) A=R3RB=R\{-3
(c)’ A =R\{-3} 3R B = R\{0}

(d) 4=R\{-3} 3R B =R\{$}
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23, o3 g R W 24+ ax+ b= 0

¥ P et 9 § | o fiia =
¥ for Frafafe 3 ¥ S-T1 /2 w9

T §/% ?

24.

25.

1. a+B=0, a®+p2=2
2. ap?=-1,a=0

9 fiu g S W AW R W SR
e -

(a) sad 1
(b) aa 2
(c)—1 3R 2 <t
(d) AL aE2

afq (x—% +x>1ogy, st % foug e #
B&AT 9% 5600 ©, A x T A 0§ ?
(@) 6

(b) 8

(© 9

@ 10

Bx—y)4x +3y)* & YO | frem we
g7

(@ 9

(b) 12

(c) 15

@ 17



20.

21,

22.

Ifzis a complex number such that

z=]
o1l is purely imaginary, then what is

|z| equal to ?

N | —

(a)

(b)

w | N

(c) 1
(d) 2

How many real numbers satisfy the
equation |x—4|+{x—7] =15 ?

(a) Only one
(b) Only two
(c) Only three

(d) Infinitely many

A mapping f:A—> B defined as
Jx)= 2x+3, x € A. If fis to be onto,
3x+5

then what are 4 and B equal to ?
(@ 4= R\{—%} anfi B= R\{—%}
(b) 4 =R and B=R\{-3}

(c) 4=R\{-2} and B = R\{0}

(d) 4 =R\{-3} and B = R\{%}

23.

24.

258

a and f are distinct real roots of
the quadratic equation x>+ ax+b=0.
Which of the following statements
is/are sufficient to find o ?

1. a+f =0, a2+p2=2

2. af2=-1,a=0

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d)~Neither|1 nor 2

If the sixth term in the binomial ex-
[ 2 y 8

pansion of (x‘ 3w % log,, x) is 5600,

then what is the value of x ?

(@ 6

(b) 8

() 9

(d 10

How many terms are there in the
expansion of (3x — y)*(x + 3y)* ?

@ 9
®) 12
© 15
@ 17

A — ASGT-B-GNL



26.p,q,r3ﬁTsAPﬁ'S'HW%ﬁF

27.

28.

pts=8 3R gr=15 2 | @ <«
IR T B TEAT & S SR MR ?

@ 6
®) 5
(c) 4
@ 3
P et we n ¥ g frefiie
FaA1 R TR fifve .
1. Cn, VR B Al n=2r%

2. C(n,r)‘il%ﬁ'q%'qﬁ'n=2r—13ﬁ?
n=2u+1%

ST FAA! § HH-A1/HHE 8 /T2
(a) Had 1

(b) &« 2

(c) 13R2gmi

(d TA 1,982

m I @MU, n @R A HeA
IR TR 60 TRk TS o T |
(m+n)TAF TR ?

(a) 6 |

(b) 7

(c) 8

@ 9

ASGT-B-GNL - A
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- 29.

30

W ST = ‘PERMUTATIONS’
& wHEAl f Hen 3 g IR U=
‘COMBINATIONS’ & SH=dl hl HE&AT
y ¢ | ffafeq d sm-aragi € 7
(@ x=y

(b) y=2x

(© x=4y

d y=4x

IF 0, 1,2, 4, 59, TR ey fam
5-3hId TEATT TS STt 8 | 50,000 /&
T wEat i wfayraar fea 8 7

(a)
(b)

20%
25%

AR AW 9T T (02) 991 & forg Frafefaa
R four Hifvg .

HA Y sing 3R cosa T GM, sinf 3
3R sina 3R cosa FT AM, tany 2

31.

cos2f Toreer s=R ® ?
(@) (cosa — siner)?

(b) (cosa + sina)?

(c) (cosa — sina)? \

(cosa —-sin oz)2
2

(d)



26.

757

28.

p, q, r and s are in AP such that
pts=8 and gr=15. What is the
difference between largest and smallest
numbers ?

@ 6
) 5
© 4
@ 3

Consider the following statements
for a fixed natural number n :

1. C(n, r) is greatest if n=2r

2. C(n, r) is greatest if n=2r—1 and
n=2r+1

Which of the statements given above
is/are correct ? ’

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

m parallel lines cut n parallel lines

giving rise to 60 parallelograms. What-

is the value of (m +n) ?
@ 6
(®) 7
© 8

d 9

29. Let x be the number of permutations of
the word ‘PERMUTATIONS’ and y be
the number of permutations of the
word ‘COMBINATIONS’. Which one
of the following is correct ?

(@ x=y
(b) y=2x
kC) x =4y
(d) y=4x

30. 5-digit numbers are formed using the
digits 0, 1, 2, 4, 5 without repetition.
What is the percentage of numbers
which are greater than 50,000 ?

@) 20%
(b)+25%

Consider the following for the next two .
(02) items that follow :

Let sinf be the GM of sina and cosa; tany

be the AM of sina and cosa.

31. What is cos2f3 equal to ?
(@) (cosa — sina)?
(b) (cosa + sina)?
(c) (cosa — sincr)?

(cosa —sin oc)2
2

(d)

A — ASGT-B-GNL



32. sec2y T W T § ?

3—sin2¢
5+2sin2c

(a)

S+sin2¢
3-sin2a

(b)

3-2sin2¢
4+sin2¢

©

3-sin2a
4+ 3sin2¢

(d)

AR W AT T (02) Tt & fore femaforRam
R fer difsg

10m 3= T&F G W 20/m &l ThH &ee0s
TR A F Frdt fg P R tan}(0°5)
Hor i wRar ® | A SR @vigRy |
fig P R smfa @m0 § |

B.Ak T FT@ AP A x B,
frrafafaa wuet ) fomr fifs .
LXxFYAFABIGFA ©, SN 1:3 %
e H €
2. x TGS HI FAE & KR T
qodl ©

ST FAA H BA-01/H T R/ ?
(a) sae 1

(b) Fa 2

(c) 13R 23

(d) A1, AR2
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34, Tan6 & QNI AF T ?

(a)

Wi Alw

(b)

QD |

(©)

(d)

H|—

AR AW AT Y (02) I & forg Frafafaa
Wﬁ?ﬂ@lﬁﬂl

T s ABC- uim, Baw & w it &
sine'QFAMETG‘ﬁT%| EGE GGl
BC=33dRcd=1%

35.%33@%@1.%?
(a) 3 +1
(b) V3+2
€ V3+3
@) 2V3+1

36. frafafea wamt w R $fifvg -
1. ABC wuawia fiw 2
2. Pt & i 4P H
Sudth FAAl # hi-a1/8 w6 /8 ?
(a) a1
(b) *ad 2
(c) 13R 23t
(d) IA1,982



32. What is the value of sec2y?

3—-sin2¢
5+2sin2¢

@)

5+sin2a
®) 3—sin2a

3-2sin2¢
4 +sin2¢

(©)

3-sin2¢
4+3sin2¢

(d)

Consider the following for the next two
(02) items that follow :

A flagstaff 20 m long standing on a pillar
10 m high subtends an-angle tan~!(0-5)at a
point P on the ground. Let 6 be the angle
subtended by the pillar at this point P.

33. If x is the distance of P from bottom of
the pillar, then consider the following
statements :

1. x can take two values which are in
the ratio 1:3

2. x can be equal to height of the
flagstaff

Which of the statements given above
is/are correct ?

(@ 1 ohly
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

13

34. What is a possible value of tan6?

(a)

w N Hlw

(b)

(©)

W | =

@

B

Consider the following for the next two
(02) items that follow :

The perimeter of a triangle ABC is 6 times
the AM of sine of angles of the triangle.

Further BC=/3 and C4 =1.

35. What is-the perimeter of the triangle ?
(a) A3+1
(b) V3+2
(c) \V3+3
d) 2V3+1

36. Consider the following statements :
1. ABC is right angled triangle

2. The angles of the triangle are in
AP

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A - ASGT-B-GNL



A 3T A A (02) W F forg Frafafe
Wﬁﬂi'ﬁﬁm

.2 .
- sin A-I'-smA+1,
sin A

Gi%i0<As%%

37. x 1 AqH HE 1§ 7
(@ 1
(b) 2
(c) 3
(@) 4

38. 4 & fF8 AW W, x F WM graw § ?

(a)

]

(b)

A

w(

()
a =
(d )
IM AW T T (02) I & foru Frafefea
R feER $ifsg | |
ﬁ‘ﬁ\"TABC q, a?+b%+c? =ac+-3bc

39, B o1 e FAT R ?

(2) WG
(b) wfgaTE

(c) wRvia frgst

(d) Foromrag T wnTofir et

ASGT-B-GNL - A

40. af ¢ = 82, 7Y et 1 &reet T B 2
(a) 443
(b) 63
(©) 83

d 1243
AW I A o (02) Wt % forg Freffa
WW%{[

FT (%) =|x—2|+[3~x|+|4~x|, &I
xeR %, oz fa=R Eﬁﬁm 2

41. x & f5 7 R %M <EaH AW A
Rl B 2

(@) 2
() 3
(c) 4

d 0

42. ST H AT HE FTT® ?
(a) 2
(b) 3
) 4

@ o



Consider the following for the next two
(02) items that follow :

_ sin?A+sind+1 1

Let x - where 0< 4 <—
sin 4 0

37. What is the minimum value of x ?
(a) 1
(b) 2
) 3
(d 4

38. At what value of 4 does x attain the
minimum value ?

b/
@ ¢
7Z
® 7
T
© 3
@ 5

Consider the following for the next two
(02) items that follow :

In the triangle ABC,
a2 +b*+c? =ac+-3bc

39. What is the nature of the triangle ?
(a) Equilateral
(b) Isosceles
(c) Right angled triangle
(d) Scalene but not right angled

15

40. If ¢=8, what is the area of the
triangle ?

(a) 43
(b) 63
) 83

@ 1243

Consider the following for the next two
(02) items that follow :

Consider the function
fy=|x—2}+|3-x|+|4- x|, wherex € R.

41, At what value of x does the function
attain minimum value ?

(a) 2
(b) 3
(c) 4

@ 0

42. What is the minimum value of the
function ?

(@) 2
() 3
(c) 4
@ o

A — ASGT-B-GNL



AT S A QY (02) U % forg Prefafea
R R fifa
AR S=01+11+21+31+41+. ...+ 100!
R fEr fifve .

43. 3k am s | 8 ¥ fawvm e =g,
v ATEH FIT BRI ?
(@ 0
b 1
(c) 2
(@) T a& foran s wepar

44, 3t ar s 60 ¥ Fafa femn wg,
A ANHS AT B2
(@ 1
® 3
(o) 17
(@ 34

AR 3 9T < (02) el & forq feforfaa
R fEr $ifs .
Bt POR #, P We® w91 @I § R
cosP=7 ¥ | T JAfcicch B 1 i
gqa Y PO, QR 3R RP & AW
N, L 3R MR 30 YR w3f o=ar & 6 PN,
QLﬁTRMﬁﬁE’I‘émT: nn+2 n+t4
®, W&l n T Tf dem ¢ |
45. n H HF T E ?

(@) 4

() 6

(c) 8

(@ 10

ASGT-B-GNL - A

16

46. TR DI o Y s Rt & 2
@ 12
() 14
© 16
d) 18

AW AW 91 <) (02) WAl & Torq Freafafea
Wﬁﬁ'l?a?lﬁfq

fear g fa

sinx +cosx +tanx +cotx +secx+cosecx =7

47, G o @ frm @it |
T (reduced) foram st @aa @ 2

(@) sin2x—44sin2x+36=0
(b) sin’2x+44sin2x—36=0
(c) sin®2x-22sin2x+18=0
(d) sin?2x+22sin2x-18=0
48. Af¢ sin2x=a-bJc 2, V&l a 3R b

TYe §EATY § 3R ¢ U AHE €EAl
TMa-b+2c AR TS ?

(a 0
(b) 14
(c) 21

(d 28



Consider the following for the next two
- (02) items that follow :

Consider the sum
S=01+1'+214+31+4!4+. ...+ 100!

43. If the sum S is divided by 8, what
is the remainder ?

(@ 0
(b) 1
(c) 2
(d) Cannot be determined

44. If the sum S is divided by 60, what is

the remainder ?
(@) 1
(b) 3
(c) 17
(d) 34

Consider the following for the ‘next two.

(02) items that follow :

In a triangle POR, P is the largest angle

and cosP = —;— Further the in-circle of the

triangle touches the sides PQ, QR and RP
at N, L and M respectively such that the
lengths PN, QL and RM are n, n+2, n+4
respectively where n is an integer.

45. What is the value of n ?
(2) 4
(b) 6
(©) 8
(d) 10

17

46. What is the length of the smallest
side ?

(a) 12
(b) 14
(c) 16

@ 18

Consider the following for the next two
(02) items that follow :

Given that
sinx + cosx + tanx +cotx +secx +cosecx="7

47. The given equation can be reduced to

sin®2x—44sin2x+36=0

(a)

(b) sin®2x +44sin2x-36=0

sin? 2x—22sin2x+18=0

(©

sin? 2x+22sin2x~18 =0

(d)

48. If sin2x=a—bw/-c_, where a and b

are natural numbers and ¢ is prime
number, then what is the walue of
a-b+2c?

@ 0
(b) 14
© 21
@ 28
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AW AW 9 o (02) e & forg Feferfaa
R fEr difse .

s feuardia afieRer saveR foar wan @
(3+2J§)x2-(4+2«B)x+(8+4ﬁ)=0

49. THIERY % HAl H HM 1 § ?

(@ 2
(b) 4

) 242
(d 243

50. THIERT % AT H GM T § ?
@ ~2(v6-3+y2-1)

) V2(V6+3-42-1)
(© (x/g—\/i+«/_2-—l)
@ (V6+3++2-1)

AR I 9T 9 (02) WAt & fog frafafea

7 fifore

a b ac+b
b c ba+c
ac+b bo+c 0

A(a, b, c, @)=

51. gfe Aa, b, c, a)=0?ﬁ TAE o> 0
& fog frmfofea & sF-ar a1 @ 2

(@ a,b,c AP §g
(b) a,b,cGPHE

ASGT-B-GNL - A

(c) a,2b,c APHE
(d) a,2b,cGP Hg

52.9f A(7, 4, 2, a)=0 T o Trffaa
H F-9 Teh THIAOT 6l 7 (root) § ?

@ 7x*+4x+2=0

(b) 7x*-4x+2=0

(© 7x* +8x+2=0

(d) 7x*>-8x+2=0
AW -9 21(02) WAl & fog fafafas
W femR il
fean = & 8 m(6) = cot?0 + n*tan?6+2n
el n. UH faq gcRs arafas g §
53, m(0) S TAAH A TR ?

(@) n
(b) 2n
(c) 3n
(d) 4n

54, frm wivey & siwla m & w7 Aaw
B ? '

~(a) n = tan?6
(b) n = cot?8
() n = sin?0

(d) n = cos?6



Consider the following for the next two
(02) items that follow :

A quadratic equation is given by

(3+2«/§)x2—(4+2J§)x+(8+443)=0

49. What is the HM of the roots of the
equation ?

(@) 2
(b) 4

© 22
d) 243

50. What is the GM of the roots of the
equation ?

(@ v2(v6-3442-1)
) V2(V6++3-+2-1)
© (ﬁ—ﬁ+«/§—1)
@ (V6+3++2-1)

Consider the following for the next two
(02) items that follow :

a b ao+b
b & ba+c
ac+b bo+c 0

Let A(a, b, ¢, @) =

51. If A(a, b, ¢, a)=0 for every a > 0,
then which one of the following is
correct ?

(a) a, b, c are in AP
(b) a, b, c are in GP

19

(c) a, 2b, ¢ are in AP
) a, 2b, c are in GP
52. If A(7, 4, 2, a)=0, then a is a root

of which one of the following
equations ?

(@) 7x2+4x+2=0
(b) 7x2-4x+2=0
(©) 7x*+8x+2=0

(d) 7x*-8x+2=0
Consider the following for the next two
(02) items that follow :

Given that m(8)=cot?6+n’tan’0+2n,
where n is a fixed positive real number.

53. What is the least value of m(0) ?
(@ n
(b) 2n
(c) 3n

(d) 4n

54. Under what condition does m attain the
least value ?

(@) n = tan%0
(b) » = cot?
(c) n=sin%0
(d) n = cos?6
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W W AT 3 (02) WF F forg Frafafea
R foem Hif

W@t x=0, =0, x+y=1 3R 6x+y=3
¥ T TGS S TR |

55. frew-s@-forg (origin) ¥ TERA @
Teremt wr Feftencor = @ 7

(@ 3x+y=0
(b) 2x+3y=0
(© 3x-2y=0

d 3x+2y=0

56. qER Tl o i = € 7
(@ x+2y—1=0
(b) x-2y-1=0

) 2x+y+1=0

(d 2x+ty-1=0
ST SR AR A (02) WA & forg Frefirfea
R foar Fifd
qefaa 2+ 4y2=1 R FE fig Px, ) £ |
M AR E, F S & e € |
57. PE + PF @& seR § 7

@ 1

(b) 2

(c) 3

(d) 4

ASGT-B-GNL - A

IR fou wu fagett # S-a1 <faw &
Tifire s (latus rectum) W ?

(a) hae 1 3K 2

(b) &aet 2 3K 3

(c) %= 13K 3

(d) 1,233

I ST = 21 (02) W F forg e
R =R il

Wly=x 0 (x— af +y?=a’ A q Gl A
Fiedt ©

59. TGS T GG FT € ?

- (m-2)a®
(@ b
(m—1)a?

B

(m-2)a®

©

(- 1)a?

@ =



Consider the following for the next two
(02) items that follow :

A quadrilateral is formed by the lines
x=0,y=0,x+y=1and x +y=3.

55. What is the equation of diagonal
through origin ?

@ 3x+y=0
(b) 2x+3y=0
) 3x-2y=0

(d 3x+2y=0

56. What is the equation of other diago-

nal ?

(@ x+2y-1=0
b)) x-2y-1=0
) 2x+y+1=0

@ 2x+y-1=0

Consider the following for the next two
(02) items that follow :

P(x,y) is any point on the ellipse
x>+4y°=1. Let E, F be the foci of the
ellipse.

57. What is PE + PF equal to ?
(@ 1
(b) 2
(c) 3
(d 4

21

58. Consider the following points :

(5

9
2

(3 1]

2 4

Kz’ 4

([3— 1)

Which of the above points lie on latus
rectum of ellipse ?

(a) 1 and 2 only
(b) 2 .and-3-only
(c)| 1 and 3 only

(d) 1,2 and 3

Consider the following for the next two
(02) items that follow :

The line y = x partitions the circle

(x—a)2 +y2 =a? in two segments.

59. What is the area of minor segment ?

(m-2)a*

@

(- l)a2

®

(m—-2)a®

(©) 5

(m-1)a?

@ —

A — ASGT-B-GNL



60. SrEEE & SR FT @ ?

(37 —2)a>
4

(@)

(37 +2)a?

() =

(3 -2)a®
2

(©

(37 +2)a?

(d) 5

TR ST A D (02) ¥ 5 R fhifea
R fmR $ifsg .

AR AT 41, -1 2)"8R B@, 11, -1
M x? + 3% +22 + 2 +2vy+ 2wz=1=0
& oI % o faig §
61. u+v+wiras /R ?
(@ -2
(b) -1
() 1
(d 2
62.3f P(x, y, z) M W & fog &
PA%+ PB? f&ad sReR § ?
(@ 15 |
(b) 14
(c) 13
(d 65

ASGT-B-GNL - A

22

AR 3 A 9 (02) WAt & forg fFreafafaa
R fEr fifvg

3 Ent ) R fitg % e squm
(2,-1,2)aﬁ<(k,3,5)%|ﬁ‘<@-r¢aaw%
W G T |

63. k AR T & ?
(a) 4
() 2
() 1
(d) -1

64. 38 @ & fop sgura w0 €, S Ml
@A WA 7
@ (1,12, 10)
(b) (<1, -2,10)
@ (1,12, ~10)
(d) (11, 2,=10)

A ST A A (02) Wt ¥ Ry FrefiRea
R fer fifvg .

A dife 7 =37+37+3k ¥R C=/-%

>

3R axb=9¢ ¢ |
65. b ToFas SR 2 7
(@) 3i+4/+2k
(b) 5i+2/+2k
(c) 5i-2j+6k

(d) 37+37+4k



60. What is the area of major segment ?

(37 -2)a?

0 ——

(3 +2)a®

(®) 2

(37 —2)a?

) =

(37 +2)a?

d 7

Consider the following for the next two
(02) items that follow :

Let A(1, -1, 2) and B(2; 1, —1) be the end
points of the diameter of the sphere

x2+y2+22+2ux+2vy+2wz—1=0.
61. What is u +v+w equal to ?
(a) 2
(b -1

© 1
(d) 2

62. If P(x, y, z) is any point on the sphere,

then what is P42+ PB? equal to ?
(a) 15
(b) 14
(c) 13

(d) 65

23

Consider the following for the next two
(02) items that follow :

Consider two lines whose direction ratios
are (2, -1, 2) and (£, 3, 5). They are inclined

T
at an angle —.
: 4

63. What is the value of £ ?
() 4
(b) 2
() 1
d -1

64. What are the direction ratios of a line

which is perpendicular to both the
lines ?

@ (1,.2/ 10)

®)/ (=1, -2, 10)
© (1L,12;210)
@ (11, 2, -10)

Consider the following for the next two
(02) items that follow :
Let E’=3f+3f+3l% and ?=f—lAc. Let 3

be such that 2-;=27 and sz) 9_c'

65. What is b equal to ?
(a) 3i+4j+2k
(b) 5i+2/+2k
(c) 51-2j+6k
(d) 37+3/+4k

A - ASGT-B-GNL



66. (@+8) 9 ¢ o w1 For F R 2 o

81
@) % | 32
: @ 35
® 3
AR A 49T Y (02) T & forw feafafea
L el R TR it : |
©
, @ fogeni 4 ok B fufa afew s 7- 7
V4 A A
@ + IR j+k T

IR AW A 3 (02) Wt F forg FefaRaa 69. Frafafea fagelt W fer fifi
Wﬁ?l’(iﬁﬁf"{

' 11, -3, 1)
A ifog T afew Z)=4f-8f+lle, 2y p 3 C1:3.2)
el i aeAeRe TSt & |1 WA @, B, I B
IV 91T § | . 37(22, 5, 3)
67. cosa Tras SR © 7 I ﬁ'gaﬁﬁaﬁﬁ-%ﬁg,qaﬁ'{zgﬁ
STign aTell. 3@ W &g € 7
1
@ 3 (a) ¥ 1 3R 2
®) % (b) had 2 3Rk 3
5 (c) Fae 1 3R 3
© y
| (d 1,23R3
2
@ 3 .
70. AB 1 AT T § ?
68. cos2f3+ cos2y Tras saR @ 7 (@ 2
32 (b) 3
(@ T .
) 6
16 .
® ~5 @ 3

ASGT-B-GNL - A 24



66. What is the angle between (E)+77)) and

16
B © ¢
7 32
(@ - =
P @ 7
/1
®) 7 Consider the following for the next two
(02) items that follow :
(c) % The position vectors of two points 4 and B
are - f and f +k respectively.
44
@ 6 69. Consider the following points :
Consider the following for the next two L (-1,-3, 1)

(02) items that follow : '

2.(-1, 3, 2)
Let a vector @ =4i=8 f+IAc make angles

a, B, y with the positive directions of 3. (=2;5:-3)

x, ¥, z axes respectively. ) ol
Which of the above points lie on the

67. What is cosa equal to.? line joining A and B ?

1 (a) -1-and 2 only
@ 3
(b) 2 and 3 only
®) 5 (c) 1 and 3 only
5 (d 1,2 and 3
© 3
,2 70. What is the magnitude of AB ?
(d) 3
(@ 2
68. What is cos2f + cos2y equal to ?
() 3
32
@ ¢
© 6
16
b ——
b h @ 3
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IM FW 9 diW (03) ‘wwi & fau I W A1 1 (02) WA & forq feafafeaa
frferfea w faem iftr : R far $ifw . |

A MY f(x) = Pe*+ Qe + Re™, i~ WW WINQ E VAT Sl EHO ® S

P, 0, R arafds €@ € | e Afalcs TH-F9 y? =2cx+2cc B FrEfm wwar

In2 ®, VTRl ¢ UF 4TS W= § |
£(0)=6, f'(In 3)=2823ﬁxj0 F(x)dx=11 |

74. 38 e GHIGRY S RIS (order) FT

7. QF WA FAE ? B 7
(@ 1
Cllk ®) 2
() 2 (c) 3
© 3 | @
@ 4 75. % Sacha THIEU H 9T (degree) T
\§ 1
T2.RE AR TR ? (2) £
(b) 3
(@ 1 (c) 4
(b) 2 (d) ¥\ w1 e T8 ©
() 3 I M I d| (03) wE & fau
ferafofaa w foar fifsg -
d) 4
cosx x 1
T Hifeg f(x)=|2sinx x? 2x
73. £/(0) forass SRR € 7 tanx x 1
(@) 18 76. £(0) ferass SRR & ?
(b) 16 (@ -1
(®) 0
(c) 15 © 1
(d 14 : d) 2

ASGT-B-GNL - A 26



Consider the following for the next three
(03) items that follow :

Let f(x)= Pe*+Qe**+ Re**, where P, O,
R are real numbel:rg. Further f(0)=6,
f'(In3) = 282 and jo" f(x)de=11

71.

72.

‘What is the value of O ?
(@ 1
(b) 2
(c) 3

d 4

What is the value of R ?

(@ 1

(b) 2

© 3

@ 4

73. What is £7(0) equal to ?
(@ 18 |

(b) 16

(c) 15

(@ 14

27

Consider the following for the next two
(02) items that follow :

Suppose E is the differential equation repre-
senting family of curves y2 =2ex+2cc
where c is a positive parameter.

74.

75.

What is the order of the differential
equation ?

@) 1
(b) 2
(c) 3
(d) 4

What is the degree of the differential
equation?

(a) 2
(b) 3
(c) 4

(d) Degree does not exist

Consider the following for the next three

(03) items that follow :

Let f(x)=

cosx X
2sinx x?
tanx Xx

1
2x
1

76. What is f(0) equal to ?

(@ -1
(b) 0
(c) 1
) 2

A — ASGT-B-GNL



7. lim L9 fords w2 7
(@ -1
() 0
(© 1

@ 2

78. lim L) fires s 8 7

=0 x
@ -1
) 0
(© 1

@) 2

AW AW A QY (02) WA & forg Fefafea
R R fifsg .

AM A 1 (x) = sin[7? ]x + cos[-7% ]x &
[.] U& WETH qUIis e © |

79. f(%) o seR § 7
(a) -1
() 0
) 1

d 2

ASGT-B-GNL - A

80. f(%) fora aweR § 7

(@) N/
(b) -1
(© 1
1
@ 5
AR, I 9@ A (03) Wi & fu
frfafer | fmER $ifsg .
G Fillslﬂ 11=J.” a dx Sﬁt
0 1+cos’x
y - ’ 1 :
IZ_IO 1+sin2xdx ¥
L+
81. I:tlz A T ?
(@ 1
b)) =
(c) =2
T+1
@ —-3

82. 82 AR TG ?
(@ 7w
() 7°
© 7°
@ =*

28



N x
77. What is 11{1_% f—gl equal to ? 80. What is f (—}) equal to ?

(a) -1 1

(@ —75
2
(b) 0 =
(b) -1
c) 1
(©) © 1
@ 2 Sl
(d) NG
78. What is lim £ &) equal to ? Consider the following for the next three
120 52 (03} items that follow :
(a) -1 P
Let™ 1, =J. >—dx and
(b) 0 0 T+cos“x
» 1
12 - i o dx
() 1 Jo-1+sin” x
L+,
(d) 2 81. What is the value of 77" ?
1~ 42
Consider the following for the next two (@) 1
(02) items that follow : )
Let f (x)=sin[7z2]x+cos[—7r2]x where [.] 2
is a greatest ‘integer function (Ches
: T+1
@ -3

79. What is f (g) equal to ?

82. What is the value of 81> ?

@ -1

@ =
(b) 0 ®)
© 1 © =°
@ 2 d) =*
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83. LHA AM |1 § ?

T

(@ N
M
® 2%
_ R4
© 2%

T
@ 37

ST T A A (02) W % R Preeffe
R faR fifsg .

W?-ﬁﬁl'ql=f:%éx, ), 9

84. | Toreh SRISR 5191 <0< b & ?
@@ a+b
(b) a-b
() b-a

(a+b)
2

@

85. | ferereh SRR R 919 a<b< 0% ?
(@ a+b
(b) a-b
) b-a

(a+b)

@ -5

ASGT-B-GNL - A

AN FM I qAE (03) WHi F fm
frfafea w® fer Fife .

AW AT f(x) =|lnx| x#1 %
86. x=0-5 U f(x) T NGhelST T © ?

(@ -2
(b) -1

() 1
(@ 2

87.x=2 W f(x) & &hel T § ?
1
@ —5
) -1
© 5
@ 2

88. fof (x) T el T §, el 1 <x <2

g7

(@) —

Inx

(b) xinx

©) —7—

Inx

d -

xinx

30




83. What is the value of I, ? Consider the following for the next three
(03) items that follow :

7
< Let f(x)=|lnx|, x#1
@ 73 f(x)=|inx|
86. What is the derivative of f(x) at
- x=057?
1) g .
) 22 (@ -2
37 ) -1
©) 575
. d 2 .
@ 37
87. What is the derivative of f(x) atx=2 ?
Consider the following for the next two 1
(02) items that follow : (a 3
Let l=_[bmdx a<b (b) ~1
a X g
84. What is / equal to when a <0.<b? () %
@ atb @ 2
(b) a-b
88. What is the derivative of fof(x), where
(c) b-a 1<x<2?
+b
p ) > ) o
Y nx
85. What is / equal to when a<b<0? 1
(@) a+b () xilnx
(b) a-b 1
© Inx
(c) b-a
.. (a+b) 1
@ 2 @ xinx
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AW W A A (02) W & fog Frafifea
R =R Sifoe .

x+6, x<1

qA A f(x)={pr+q, 1<x<2

5x, x=2

AR f(x) TR |

89.p F AW TR ?

90.

91.

(@ 2
(®) 3
() 4
@ 5

g AR TR ?
(@) 2
(b) 3
(© 4
(d).5
forforfen @t o fomm iftg ;
1. f(x) = Inx, (0, o) ¥ TEA
2. g(x)= e"+e7l", (0, c0) H BTN
STYTH FAAI A A /A T R/ ?
(a) Had 1
(b) a2
(¢) 13K 23l
@ TAL,AR2

ASGT-B-GNL - A
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92.

93.

sin?x &T cos2x & HeH W 3{Gehersl T
® 7

(a) -1

(b 1

(c) sin2x

(d) cos2x

m<0 dfga m & 5@ 7w F foau
Jarett y=Xx, y=mx IR x=2 g/
Reg & 3 % SR § ?

- M) —3
b) -1
@
@ 2

94.

9s.

cosec(x®) &l A T ?
(a

—cosec (x°) cot(x°)

T ,
———cosec(x°) cot(x°)

LT

n
——cosec(x°) cot(x°)

© Tgo

(d)

—l—g%cosec (x) cot(x)

2
Fah  GHIHOT (-dl) P o
dx -dx

TR

(@ y=2
(b) y=2x+4
€ y=x-1

_(x2—2)
@ y=—"



Consider the following for the next two
(02) items that follow : :

x+6, x=<1
Let f(x)={px+q, 1<x<2
Sx, x=2

and f(x) is continuous

89. What is the value of p ?
(a) 2
(b) 3
() 4
(d 5

90. What is the value of g ?

(@ 2
b) 3
(c) 4
@ 5

91. Consider the following statements :
1. f(x) = Inx is increasing in (0, )
1
2. g(x) = e"+e* is decreasing in
(0, )

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c¢) Both 1 and 2

(d) Neither 1 nor 2

33

92.

93.

94.

95.

What is the derivative of sin’x with
respect to cos?x ?

(a) -1
b) 1
(c) sin2x
(d) cos2x

For what value of m with m <0, is the
area bounded by the lines y=x, y =mx
and x=2 equal to 3 ?

@ —3
(b) -1
© -3
@) 2

What.is the derivative of cosec(x®) ?

@

—cosec (x°) cot(x°)

(b)

—-1—7;—0 cosec (x°) cot(x°)
Z_cosec (x°) cot(x°) -
© T30

(d)

—lnﬁcosec (%) cot (x)

A solution of the differential equation

2
(ﬂ) —xd—y= 0 is
dx dx

(@ y=2x
(b) y=2x+4
(c) y=x*-1

_(x2-2)
@ y= 5
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96. afc f(x)=x2+2 IR g(x)=2x-3
?, @ (fp)(1) Forersh SR @ 7
(a) 3
(b) 1
(c) -2

(d -3
®ad f(x)=x+|x| W 9H (range)

TR ? W WO W Wi (Domain)
JTEI(R G F G § 7

@ (0, )
() [0, )
© o)
@ [1, )

97.

MR f()=x@x2-3) B, A f(sind)
forqes TR 7

(@)
(b)
©
(d)

98.

—sin36
—cos36

sin36

—sin40

99.

(c) 1
(d) ¥ w A 781 ©

ASGT-B-GNL - A
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100.

101.

102.

9
lim 1
X—)lx _1

foreer s 2 7

(a) -1

(b) -3

) 3

(d) o = afee = @

U VA0 F W 3R WA S

14 3R 132 €| = & § 99 Y=o
11,16 3R 208 | S QA NEwr |71 § ?

(a) 83K 15
(b) 93 14
(c) 40313
(d) 11 3R12

M T 4 3R B § @ wearg =4
WK & f6

P(4)=07, P(B)=k, P(A4UB)=038
RlhkRAT FTE ?

5
@) 7

4
(b)7

2
© 2

N -

@



96.

b

98.

99.

If f(x) =x*+2 and g(x) =2x -3, then
what is (fg)(1) equal to ?

@ 3
) 1
(c) -2
(d -3

What is the range of the function -

f(x) =x +|x| if the domain is the set of
real numbers ?

@ © )
®) [, )
© o, )
@ 1, )

If f(x)=x(4x>-3), then/-what s
f(sin8) equal to ?

@
(®)
©
@

—sin360
—cos360
sin36

—sin46

What is lim>—*

equal to ?
x5 Ix = 5|

(@ -1
(®) 0
() 1

(d) Limit does not exist

35

9
100. What is lim = 5

101.

equal to ?
x—-1 21
(@ -1
(b) -3
() 3

(d) Limit does not exist

The mean and variance of five obser-
vations are 14 and 13-2 respectively.
Three of the five observations are 11,
16 and 20. What are the other two
observations ?

(a) 8 and 15

(b) 9 and 14

102.

(¢) 10 and 13

(d) 11 and 12

Let 4 and B be two independent events
such that

P(Z) =07, P(B)=k, P(AUB) = 08.
What is the value of £ ?

(a)

| W

(®)

RIS

SN

(©

(d)

3| -
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103.

104.

105.

A fas o Sed fa (bead)
aﬁ#‘rmﬁzm%%, I aR IS

AT © | 39 9| S wiikear § &
gl Tl IR IBEI | UE (tail) MY AR
I =g @ g ?

8L

® 313

81

(b)_lf)ﬂ

81

© 256

27
(d)E'z;
 faoem @ weR siftma @ f6 s@
i (head) I i GG UE (tail) I
H g ¥ et R 1R & B
W IVl A FAE oA s il
AT ARt ®© 7

81 |

(@) 2_56

27

SN

21

© 35

9

ey

w WY X 3R ¥ @ agfee® R
v € 6 x+v=100 % | afe w=a
n =100 3R p = 3 afeq X fug seq =
AT AT ®, AV Y T R T 7

ASGT-B-GNL - A

36

106.

107.

108.

(@ 1
(b)

N | —

) 16

[e—y

(d) Te

A x+4y+1=0 3R dx+9y+7=0
A AT WY AT y=-3 % QA
XTFAR TG ?

(a) —13

() -5

() 5

d) 7

Uk 9d A@ (Pie Chart) & =R fr=a
'@ﬁ(ﬁ%ﬁ)%%ﬁﬁmp,q,rﬂ'{s
(Tt #) w=w 9p=3g = 2r=65 =1
'{i@‘?ﬁ'&%l4p—q?ﬂﬂﬁw%?
(a) 12

(b) 24

(c) 30

@) 36

4,1,4,3,6,2,1,3,4,5, 1, 6 & 12
ITET T Tk 1 Sk W 1 IR § |
Tfe m dR M FAT: T9Q B 8 Neqoqt
IR T oL 4 Veoit & wEw g, A
@m + M) Toras SR § ?

(a 10

(b 12

(c) 17

(d) 21



103.

104.

10sS.

A biased coin with the probability of
getting head equal to :1‘- is tossed five

times. What is the probability of
getting tail in all the first four tosses
followed by head ?

81

(a) T

81

b) ——
®) 1024
| 81
(©) E
27

@ 1024

A coin is biased so that heads comes
up thrice as likely as tails. In four
independent tosses of the coin, what is
probability of getting exactly -three
heads ?

81

(@ F6

27

®) 64

27

© 256

@ 256

Let X and Y be two random variables
such that X+ Y=100. If X follows

Binomial distribution with parameters

n=100and p= %, what is the variance
of Y?

37

106.

107.

108.

(@ 1
1
(b) =

() 16

=

@ 16

If two lines of regression are
x+4y+1=0 and 4x+9y+7=0,
then what is the value of x when
y=-3?

(a) -13

(b). =5

() 5

@ 7

The central -angles p, ¢, r and s
(in < degrees) of four sectors in a

Pie Chart satisfy the relation 9p = 3q =
2r = 6s. What is the value of 4p—¢q ?

(a) 12
(b) 24
(c) 30
(d) 36
The observations 4, 1, 4, 3, 6, 2, 1,
3,4, 5, 1, 6 are outputs of 12 dices
thrown simultaneously. If m and M are
means of lowest 8 observations and

highest 4 observations respectively,
then what is (2m + M) equal to ?

(a 10
(b) 12
(c) 17
(d) 21

A - ASGT-B-GNL



109. T R 31 @q==a § ¥ @ fg

110.

111.

CLDIR G, 2T IR yH xR
FHTHAO @1 T 'R ?

(@ x—4y+5=0
(b) 3x+2y-1=0
() x+4+1=0
(d) Sx—4y+1=0

T& 9@ & 10 ¥R 99 9@l § 3K
fr wRom aw B €

1,2,1,1,2,1,4,6, 5, 4

W YER VW 30 (data) F EE HT
BT ?

(@ 6
(b) 4
© 2
@ 1
frafafes seRaT s W fER
o :

X 1 2 3 5

f 14 |1 6| 9| 7

FA I HITEqa T A 1§ ?
(@ 1
(b) 2
(c) 3
d 35

ASGT-B-GNL - A

38

112.

113.

114.

¥ -1, 1, 4, 3, 8, 12, 17, 19, 9, 11
¥ g, aR M 5 el & wifem
2 3R N el wiw Yewn f wifer
S NAM-NHAA TG ?

(a) 7
(b) 4
© 1
d o

AW Wit fet e 5P=4Q=§—
¥ fw P, 0, R Ay e, AN
AR-agas & fefm = g1 @

P+Q _
1A 1 ?
2P+07R L

e
12

(a)

1

(®

©

=) )

=

(d)

geamst 1,2,22,23, ..., 27, &1 PIRR
A G ®, A 1 +2log,G & A T

27
(@ 1
(b) 4
() n-1

@ n



109.

110.

111.

A bivariate data set contains only two
points (-1, 1) and (3, 2). What will be
the line of regression of y on x ?

(@) x-4y+5=0
(b) 3x+2y-1=0
(c) x+4y+1=0

d) 5x—4y+1=0

A die is thrown 10 times and obtained
the following outputs :

1,2,1,1,2,1,4,6,5, 4

What will be the -mode of data so
obtained ?

(@ 6
(b) 4
(c) 2
d 1
Consider the following frequency
distribution :

X 1 2 3 5
fl a6l 9l 7

What is the value of median of the
distribution ?

@ 1
(b) 2
© 3
@ 35

39

112.

113.

114.

(©)

For data -1, 1, 4, 3, 8, 12, 17, 19, 9,
11; if M is the median of first 5
observations and N is the median of

last five observations, then what is
the value of 4M - N ?

(a) 7
(b) 4

() 1
@ o

Let P, O, R represent mean, median
and mode. If for some distribuéion
R . +
=40 = —, th hat is ——————
SP=40 =", ten Whal 18 5 p+07R
equal to ?

1
(a) E

1
(b) -

IN

(d)

g

If G is the geometric mean of numbers
1,2,22 23 ...,2% then what is the
value of 1+ 2/og,G?

(@ 1
(b) 4
(c) n-1
d n
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115. afe @@ 1, 2, 22, 23, ..., 2+ &1 118. T TR % W € | a1 Wik € f6

;mmﬂ%ﬁrnu{%a%m I3 W A 3 F I A1 ?
?
1

1 (@ —
(a) 2- 1 9

2n+

1 e
® 2-—5 T

1 1
(© 2+2n'_] © >

1 1
@ 2= @ 3

116. W o Jeqon X15 X2y X34+« .x,,iﬁ

- Ers e R 2 1o, 71 wikear ¢ 5 gk & w@m &

: 53fear &t ?

m:ra'iﬁfq5=2f'_l(2xi-a)2 g, S& d

i (@ 1
A A BT ST g SRIeE, © :

@ P (b) =
; 4
(b) _2' 3
(] =
(© 20 7
@ R 2
d 7

117. TF & # 3 ¥ 3R 2 el iR €, g
A R ARSHEAACR NI H 19 et 50 et st 3 & e

e O ¥ Frea | @ a9 F @ HEAT A S ® 1 @ Wil € R
S ¥ R R R A WA @ 50
qTHS B ? 23
6 @ %
® 3 47
33 b)) —
(b) 20 50
- 24
(C) E‘ (C) 25
! : 49
@ o @ %

ASGT-B-GNL - A 40



115.

116.

117.

If H is the harmonic mean of numbers

1, 2, 2% 23, ..., 2% then what is

n/H equal to ?
1

2n+l

\

(a) 2-

1

2?1—1

(b) 2-

(c) 2+

2'1—1

1
(d) 2-5;
Let P be the median, Q be the mean
and R be the mode of observations
X1,X2, X3, ... X Let S = Z:=l(2x,- —a)2.
S takes minimum value, when a is
equal to

(@ P

o 2

(© 20
@ R

One bag contains 3 white and 2 black
balls, another bag contains 2 white
and 3 black balls. Two balls are

drawn from the first bag and put it

into the second bag and then a ball is
drawn from the second bag. What is
the probability that it is white ?

6

(@ 7
33
70

3
10

1
70

(b)

(©)

(d)

41

118.

119.

120.

Three dice are thrown. What is the
probability that each face shows only
multiples of 3 ?

1
(@) 6

18

2l
27

®)
©

1
@ 5

What is the probability that the month
of December has 5 Sundays ?

(@ 1
(b)

(©)

[V glw A=

(d)

A natural number » is chosen from the
first 50 natural numbers. What is the

probability that n + % <507
23
25
2l
50
4l
25
&
50

(a)

(b)

(©

(d)

A — ASGT-B-GNL
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